Heredity Picture

Information:


Most traits are determined by two forms of a gene (one from mom and one from dad), called alleles.  One example is eye color.  There are basically two eye colors – brown, which is dominant, and blue, which is recessive.  We use capital letters to represent dominant alleles and lower-case letters to represent recessive alleles.  A person can have one of three possible genotypes (letters).  1.  Homozygous dominant (BB)  2.  Heterozygous (Bb)  3.  Homozygous recessive (bb).  The phenotype is the physical characteristic that is the result of the genotype so, 

BB = brown eyes
Bb = brown eyes
bb = blue eyes

Brown or blue eyes is the phenotype.

Instructions:

You are going to flip a coin to determine the genotype of an individual.  You will flip the coin twice for every trait.  On lined paper create an informational chart arranged in the following way:

	Trait
	Genotype
	Phenotype

	Example:

1.  Shape of Face  (this comes from the handout)
	____  ____

Two letters go here.  The letters used depend on the trait (see handout).  For face shape use r’s.  Flip a coin once (heads is a capital letter and tails is a lower-case letter).

Example:

First flip is heads so place a capital R in the first blank.  Second flip is tails, so place a lower-case r in the second blank.  Rr (heterozygous) has a phenotype/physical feature of round (see handout).  Write round in the phenotype section of this table.
	Write round in this section.


The capital letter is always written first.  Even if you flip tails first and heads second, you still write Rr for the genotype.  Do this for all 17 traits on the handout.

THEN:
  Draw the person with the traits you determined.

*Flip once to determine the sex of the individual:  heads = female, tails = male.

Draw a nice, big picture!!

Questions:

1.  Why do you flip twice for each trait?


Once for each parent allele – one from mom and one from dad.

2.  Why do you flip a coin to see which allele your genes will have?


Random assortment – which of each pair of chromosomes goes into which gamete produced by meiosis is random.

